Moth 3280 A 23 -11-13

Re\/iew.

et X, Y be independant cts vu’s with densities 4 £y
reSYed"wdy, +hen X-t-Y has a clems.‘-i-y Q. iven bj ’

3GX+Y (a) = FX * ]CT (2)
[ oo g
= (5 o il de

° Tl'u. o'.l‘scmjre Cone ° both X ond Y ot dAbCrQ/‘{l{

We would Ghe &o Cwl,cutaf‘sa

Py XrY=a},
It s easy to see 'H\o\i'

P{ X+ \f:m} = g Pg X=x, XTY:O(}
- ZPiXen, Yoo
T p{xe) P




Exomplel,  Let X, Y be W*ﬂ-feh&w* Poisson vu.’s
Wi th Famwud\rs )\,' /\,_) Yesf.
leculwte tj"L J"/Bf‘“‘k)“h;" U—S: X+ \r

-
Glatim:  Pf XeRy= €7 W /for , ko ua
P% Yzﬁk: C_'/\L )\LK/IQ./ } ﬁ:oj,) 2 .

Fovr n=0o,12:--,
o0

P X*Y”‘j = ED P3 x=k} Pi Y= n-k }
(but P{Y=nk} = if koo

R=0
n -M R Ao h-k
=
A



_/\)_.)\L L Zn h R n-k
= ¢ n! w(k)’\‘ Ax

By +‘\g. binown‘we ﬂtm

= <A\ h
oM (Ath) A}

(Rectl  (atb)'= RZ:O <nh) ok )

Henws, X'\' Y has ‘H«L POISSOM Ol,xkhx\’ow‘h‘ow wWith
va‘qu,J[eY A,‘H\L.

§ 6.4 Condational ol.t‘si'v:lou'{'l‘on.
1. Diccvele Cane.

Del Lt X, Y be two dirvete rus.

;rken
X:% Y: = Pg X:’X/ Y;lé} ;
P ' PIV=y!

provided that P Y=y} >o.




2,

Sum}o»e that X ond Y ave Jofmf[y cts  with
density  fcx,9),

DEF. Tl\l 1(£Wﬁom«p_ chnsH-J ‘Puwubh}‘ m
%uen = 3, (s %’I\l‘en le

fex,u)
(x|y) : =
30)(\\« fyca)

Provided that {YCM >0

DQ‘F. For Ac R/ tha condational PYOlo, 0}
X takv‘\a Valuss th A Fven thg IS Fien by

XeA| Y=y} = ~F (xly) dx
Pixen| v = | Fur

vavh cular,

Fuy (@9 2= P Xsof Y=4§

f—: _FXW(X{S)&X.

In

Il



Remavk: I{J X ovnd Y Qe n‘nch.femme
thain ‘? J
X|Y ('Xl ‘4) - 'FXCX) .

(Sl‘nu in sudy case ‘P(Xz y)= -FXCX) ﬂ/(b)

Remavk: One vvmy Uirewy

PIXeA| Y=y}
= l;w; P§X6A y_2<\f< %TE}

PY XA, yac < Yre}
P% y-g <Y< 31“2}

= |im
S>>0




l:XamPle 2 SuPPose tha domf olel/ts;‘rj og, X ond Y
velh b
3 % h by “xls ,

l‘§> X o Y>o
D, 9= c e /Jy
(o]

Oﬂ&V\WIC—‘

Fna PIX>1| Y=y}

6o
Solh“'lﬁn: ?T(u): \5> ‘F(K/ 3) d)(
- %

(PN

- =Xy _
__j eyygol)( OS"3>°)

0

_ ~xfy <y %
= -p e)’

= ¢ it y>o

_X/b






